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Answer the Questions froxn any one Option.

OPTION-A |
~ Paper : BOT-RE-5016 .
" (Cell and Molecular Biology)

OPTION-B
* Paper .: BOT- RE—5026
( Economic Botany and Biotechnology )

()

OPTION-C
~ Paper : BOT-RE-5036.
( Genetics and Plant Breeding)
. Full Marks : 60
Tlme .- Three hours

The figures in the margin' indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION-A |
~ Paper : BOT-RE-5016
( Cell and Molecular Biology)

. Answer the .following questions : 1x7=7

() What is the light soufce of Phase
Contrast Microscope?

m@i@w@mwﬁsﬁamﬁQcm
(IR [ =] ? -

" (ii)) Who proposed, “Protoplasm is the basis
of life”?

oo S WT&IW” — GRICT el ST

‘ﬂfﬁf’%?

(i) In which stage of meiosis, synapsis at
two homologous chromosomes is taking
- place: ? '

ﬁwﬁamﬁmﬂamwwﬁ~

| T qeeE siznIeifRR ikulte e

.(iv) Name the Substance reSpon31ble for the
- switching ‘on’ and ‘off’ of the ‘lac
operon.

-
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qa’ wmwwﬁamﬂﬁaw%wm
, ‘W@'@ﬂ(on) IS T (off)’ IE? o

(v) - Write the name of an enzyme, which is
used during DNA transcription.

%mﬁﬁmﬂﬁﬂaﬁfmﬁwm«éﬁ&
WWM|

(vi) Mention one 1mport_ant function of

Lysosome.

aﬁs’@’maﬁ‘r WWWM|

(vii) ‘Grana’is associated with which of the
cell organelles? S

@31‘« i) W"ﬁ"ﬂ (organelle) g Z’fC" ceAr’
Toe? - - .

2.; 'Answlér the' followihg questions : . 2x4=8
CEiR W Ted ﬁ‘zn '

‘ (i) Write the salient features of cell theory’ \‘
propbsed by Schleiden and Schwa_nn,

R A% CIRIE SRR @ma’asﬁ
R
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" (@) Whatis plastid ? Mention different types
“of plastids found in plant cells.

s B 7 SRS oie R 4oRT 4ides

e

- (i) What do you mean by ‘semi-
conserva_tive’ mode of DNA replication ?
DNA-9q “S{37sfre’ Srpgofias e 62

(iv) Write the various functions of cell-
membrane proteins. '

"WTWWWMI ‘

| 3 Write short notes on any three of the

- following : 5x3=15
- were famt Rcere fofme v Bed ot s
(i) What do you mean by genetic code ?

Discuss the main features of genetic
code.

- Rl o'e wiw & 3@ Rl 359 2
- WREEBpETR i -

(i) Draw and descrlbe the ultrastructure
of mitochondria.

WWWW?@WI
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(lll) What do you mean. by genetic
‘materials ? Explain the Griffit

(i)

expenments to prove DNA as geneuc
material.

'Wﬂﬁfﬂmﬁs{@ﬂ? DNAfércaﬁwmaf-

qﬁmqﬁﬁaza@ﬁﬁwwwr@n

Descrlbe Dav1d Robertson ’'s Unit
membrane model of plasma membrane.

c&e%ia’aﬁfwmwctmwﬂ«m S
@awrw*f’c“rﬂaﬁmml A

What are the applications of
Fluorescence . microscopy ifi cell

- biology ? : -
mWW@WWﬁT%?‘ s

'Answer any three of the followmg
'questlons 10x3=30

w—@mrwm ﬁimzarﬁo‘ﬁ?ﬂ T fordl ¢

)

Who invented electron mmicroscope ?

‘Write the working principle of electron
microscope. Mention the various parts :

of electron rmcroscope and also mention

" two types.of electron microscope.
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(@)

(it)

(iv)

wﬁaﬁwummmww

| gww £ P A S T A
I

Describe in details of miotic cell division

found in eukaryote cells. Write

differences between mitosis and

" meiosis:

AP Wwﬁtﬁ@mﬁ—wﬁm

WIW@WWQQ@WWW'

WW%‘W

Des.crlbe chemical composition of .|

nucleic acid. With diagram briefly

describe the Watson-Crick model'of
DNA.

WWWWWWDNAW%@

R R

Writef short notes -on :

(a) RNA~’l§rpes and functions

(b) Euchromatin and heterochromatin
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)

(@)

sqc‘s‘mﬁzn |
(@) RNA—‘@RWWW
(b) ﬁmﬁamﬁm@mﬁa

Wlth the help of dlagram descnbe the
ultrastructure of Golgibodies. Mention .
their functions.

mwm@w@ammww‘
TG ot

Describe the ultrastructure of
eukaryotic cell with neat dlagram Write
the difference between prokaryotlc and
eukaryotic cells.

g SR SRR Gﬂﬂﬂ?ﬂ?ﬁw'
wm@ﬂwwwm@amw

wmﬁmfl
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OPTION-B
Paper : BOT-RE-5026

Y E_conomi¢ Botany and Biotechnology )

1.

3 (Sem-5/CBCS) BOT R 1793

_ AnsWor the following questions :  1x7=7

(a) Name the major alkaloid found in black

pepper
RS (ARl 2o W‘i@ﬁﬂa I ot

"(b) Menton a crop as a source of vegetable |

protein.

Wé‘@ﬁ’%ﬁ@«ﬂé}ﬁﬂﬁﬂﬁﬂﬁ%ﬂﬂl

(¢ Deﬁne blotechnology

_@N’i%ﬁww\wml

‘(d‘) What is the full form of RAPD ?

RAPD ¥ w‘fm e

| (e) Cotton ﬁbres develop from

qs’“-qw ’Q'Wﬁ??%'.m|

_m ‘What js gynogenesm'?

@W%?.

8 .

(g) What do you mean by molecular
phylogeny? :

Seifes vﬁﬁ@ Fferca 1% e
Answer the followmg questlons. bﬁeﬂy :
| - 2x4-8
Y AHEIRT Beq s foradl 8
(a) What is green tea?
cieg o e

(b)  Mention the benefits of vegetable oil.

- Bfiws (oeR SoiviRerTE SE 4 |

(c) What is ELISA test?

 ELISA St &2 |
(d) What is embryo culture?
&l Tl I & @iz
_Write-'nof;es on the following : (any three) -
R | 5x3=15
w3, Gt Bt & (Rt pfB)

(a) Appllcatlons of proteomlcs and

genomlcs
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".(6) Beans and their uses
BT Y A TFew w
(c) DNA ﬁngerpnntmg '
g ReoRRIR
.%“"::“(d[ Impoftance of Bioinformatics
. AN EAE I ST T
(e) Somatic embryogenesis

Ew%ﬁwwa

4. Answer the followmg (any three) -
' 10X3 30

wm«ﬁmﬁ«n (ﬁmwfﬁﬁr)

(a) What} is the concept of centres of
origin ? Write a note on the origin of

uses.

- ,'v'@aﬂf%vaammw e W@Qﬂ%ﬁﬁﬂmcﬂﬁ
Bt il | m%ﬂfiﬁﬁ mwww
1

(b) Give an account of Cotton mentionihg
its botanical name, family, part used,
morphology and uses.

~* 3(Sem-5/CBCS) BOTRE 1/2/3/6 10

wheat. Mention its morphology and
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R AW, (i, TRTS u, AR @AY
SiF SoAIPIOR ST oY Rewdl 1
(o Whaf are different types of tea? Give
an account of processing and uses of
tea. ' T .

(d) Describe briefly the techniques of plant
. tissue culture with its application.

| WW«WW@WW-’_ _'
5y Resd fumi) .

(e) Give a general account of Indian spices
with special referenée to clove and black
pepper. -

| IF SIS R @T«aﬂw oiTeq
‘ W‘ﬁﬂ PRI e Reet |

)] Describe the principle and mechanism
of polymerase chain reaction (PCR).

ﬂﬁm@ﬁmﬁmﬁﬁ%we@mﬁm
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' OPTION-C |
~ Paper : BOT-RE-5036
(Genetics -and Plant Breeding )

1. Answer the following questions : _ 1><7-7

Wﬁmm@@m

(i), What is the Mendel flI‘St law of

inheritance ? ) .
‘ -dwmet_emqazn od fRiosT 7@ Ree
(i) What do you mean by gene allele ?
R R i e R e,
v__(iii) . Who coined the term mutation ?
- SR X R I TR T

() In which stage does crossmg over takes
place ?

Rm R @Rt ove Wsrr%— ?m
(v) What is euploid ?

(vi) Genotype of a dominant plant can be
determined by

'3 (Sem-5/CBCS) BOTRE 1/2/3/¢ 12

mah —

3.
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S T %ﬁw a—ﬁ%‘mﬁiﬂﬁcﬁ

_ SRR

(vii) What is Quanhtahve-'inheritance ?

AR o e

Answer the following questions : 2x4=8
(i Define linkage. |

.(ii) What is inbreeding depréssion?

wgeE 2

(i) What is tautomerism ?

e e |
(iv) What do you mean by centre of ongm

of crop plants?
W@mt‘mﬁw SRyl mﬁwﬁ @t@ﬂ?i

Wnte short notes on any three of the E
following : stfls

wers fis facercat A6 By (Rl e ¢
(i) Chi-square test
%1% 3o Al
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i
(i) Mechanism of crossing over | (iii) What is inversion ? Write in details
bl about paracentric and pericentric
sfieife al Rivems afemn 1 inversion with thé help of suitable
: '* diagrams. 2+6+2=10
(i) Complete and incomplete linkage . | | it Boo Soige e T C =
T S ST Tesarel R

oF (IREGS 2ok e o

| (iv) Different types of gene mutation : |

| (iv) What is hybrid vigour ? Give an accdunt
1 _ s :
Rfen ool B BesifRaes i on the hybridization techniques.
‘ | 2+8=10
(v) ~ Epistasis | | 739 *IfS & 2 Tl (FETRERI [ FHage
aficafey ' \ L.
: : (v) Write a note on physical mutagéns,
4. Answer any three of the following \ : Differentiae between monogenic and
questions : : 10x3=30 R polygenic inheritance. 5+5=10
TS Rt foft et Sew fw ¢ B Teolffmes RE «bl GOl &2l | osfersy
i _ | o TN I Wers ALy By |
() What are haploids ? Discuss the role of 1 :
haploid in crop improvement. lt (vi) What are sex chromosome ? Describe
2+8=10 ‘. : one sex chromosome linked syndrome
' ' = due to abberation in chromosome
G} o TR =P [ AT YT ; : number. - 2+8=10
SRR SICeTE 954 | | R ETEE 2 (W @GR R cAfiadm
(i) Describe in details about the different ; ‘ e @ 4Bt o AT 3
types of aneuploids ? | ;
Rf$7 smom «peizo Raw Tzai adq | —_—
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